









































































































answer a question of this
form

ThiefI e we have

Domain X
Label space Y hereY

An n tuple of labeled examples
Xi Yi ist n

A test point x
And we need to find out what is the correct

n n n nn.it t
In some strict sense
we really cannot tell

Hj
IT Actually

what the easel is

your sample looks letter it
would

be easier to tell

iÉf
that we're looking for

Iggy

Hell we guessed

a rectangle and used
this information
to deduce the label

probably












































































































IIII.is i it Say the class

half L Finary i.e o i
of rectangles
on co ifa t or E 3

Class Je of functions X Y Nocomputational

A learned it is a function xx X Y ask In
A gets an n sample s x y Xan

andoutputs a hypothesis h Au X Galdomized

Q In what sense we can say
that A leafy or fails to learn H

IIIIatientatforexteases
D is called realizable by H
if there is hey

coke iti ii
confidence 8
and samplecomplexity n

if
HD IP t ÉÉÉÉ I












































































































PAC red Eiffel greet

1i t.tt ita
Eff I

iI

IIIIIittient
TapnkCheavonenkis

and a subset SIX we saythat S is shattered by 2
if Tel y i.e Te restricted
S hithesses all passivefunction a g

ite of a set

Frexampleirectangles

Shatterany 2 points DDD
So VC
of rectanglesShatter some 3 points i yes NY is gandsome 4 points

Do not shatter hence it is
any 5 points

Forbidden
pattern learnalle
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So if there is an antipodal n sphere S
in o se then LR Te pg

We say that the
i Spherical dimension of Il

SDI VC 1 SDIVE 2

i i
i

i

i

n en stinent

Thank
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